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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2023

Fifth Semester
Economics — Major Elective
LABOUR ECONOMICS
(Ifor those who joinea in July 2021-2022 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1= 10 marks)
‘Answer ALL questions.

Choose the correct answer

1. capulear sefssaraw aaa@aannd, SHE
QerGeanmédly ————— Gan@ 2 drarg

(3) safluy auemer (=) Cosaeu euamer

(@) gerge euamar (F)  mIsFey euener

The peculiarity of labour is that it has got a
backward sloping -

(a) Supply curve (b) Demand curve

(¢) Engel’s curve (d) Consumption curve

Objectives of Wage Policy
(2) minimum wage (b) price stability

(¢) export promotion (d) all the above

5.  asdoam QsmPpetisrisar
Qsmfihsiismadr aamb sienpdstiu & armar
(o) Qermigsal (<) Hevol L
(@) @evert (F)  amiey
Craft. unions are also.called as
unions ) o
(a) vertical (b)  horizontal

(¢) parallel (d) slanting

6.  OGsmfaogep opoe Heowuu@ss, Trud sblager
—— aflswar ullbgiarsss

(=) <m (<) Brene
(&) operm (m) g
Royal commission suggested ways to
stabilise the industrial relationship
(@) Bix ' () four -
(e) three (d) seven
7. Prenssde Qgmfemreriser - uiGspug

QzmPeerigef ey 2 puzdls Apenar
(=) sfafbgn

() GOp&GDh

(@ Hswons MauSH s eh

() qﬁ,g LIDDAPD Qe wirgy
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10,

(@) 1919

2 aniptifesr @ UQuurdfuireng

(@) oapuidar Qeuddpamear ofshafdamg
(=) 2eniprienus efanmiéfens)

(@) Ceawaou uglmen oifsNsddps

() (1) whHmd (@)

Mobility of labour

() increases the efficiency of labour

(b) spoils the labour

(c) increases the division of labour

(d) both (a) and (c)

ampsens sadb ererug Humuwrer safubms

A gE Uy —————— D

(=) @eopey (=) @flso

@) WVssGmpa (/rr) Bs Blas @mpey
Living wage is a step than fair wage.
(@ lower (b) higher

() verylower (d) very very lower

eadlws Qareresuler Crrss s
(=) GophsULsF sarflwib
(=) efleva Hlavarsseianio
@) appwdl sas ey

C () CuGe 2 drer Denansgib
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A R IE——,

- Workers participation in management will

the productive efficiency of the
workers. :
(a) increase (b) decrease

(¢) keep moderate " (d) makes nochange

| Qanifeomart a:d)@ﬁ]&mmug@rr'a@m fmicuamd 1970 b

2, @10 : @ '[:f)\gusulliul'_l_gj
(@) qpbeys () QarsssT

The Indian Institute of Workers Education was
established in the year 1970 at :
(b) Bengalaru
(d) Xolkatta

(a) _Chennai
(c) Mumbai
wsiGuy pOF gLl ————— <2 B, GRTIGE0
uppLiur-gl ;

(<24) 1961 () 1963

(@) 1971 () 2972 )

The Maternity Benefit Act was enacted in the year
—_— .

(@) 1961 () 1963

© 1971 @ 1972

5 i siealoly ————
Leenr @ Qgmpleoment = "

oytb <gpeiy & HpIeUILLLE ,
b vieny : (<p) 1947
Cm) 1962
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11.

12.

16.

17.

18.

The

International” Labour Organization %%

established in the vear

(a)
(O]

1951 ®) 1947
1919 (d 1962

PART B — (5 X 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b)-

Each answer should net exceed 250 words.

(=)

(<)

(1)

(=)

e apu@ar vaCan sGagssmas &payd.
State the various concepts of labour.

Or

s apular @uuQuuidiisnre arjariiss
SIDLWAETR SRS

Identify the causes for the mobility of labour.
Gopssuls woduses Arardiugister
Cpraatiamar gHUd@s.
Indicate the objectives for fixing the
minimum wage.

' Or

o pUisBEADEIEGD, = fusSEe0
Qeororear 2 paas sam Flualn.

Trace the relationship between productivity
and wages.
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PART C — (5 X 8 = 40 marks)

Answer ALL questions, choosing either (2) or (b).

* Fach answer should not exceed 600 words.

(1)

(<)

()

(=)

(=)

2 mwrnder Quaysaer dardGs.

Explain the characteristics of Labour.

Or
QsmBeoreart Qewuadpaear urdsEh
smyeflamar AR E.

Evaluate the factors affecting the labour
efficiency.

adbar  @pffes  spupds A
Csm_um e Awisamidurs sfassayb.

Critically explain the marginal productivity
theory of wages.

Or

10480 ETH  (G@DpsLLE  oSEwWE
sl L s wHNIH Qswrs.

Evaluate the minimum Wages Act, 1948.
Qsmfpsrsnsadar Crasusmar dairdss.
Discuss the objectives of Trade Unions.

.Or
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19.

(i}':

ioT manmica=s

(e}

Briely explain the varicus bensfts provided
under the socizl security m

B Y ait =
Menton the aims of Internzdonal Labour
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‘Appraise the chjectives of workers
participation in management.

What are the benefits
Emplovees State Ins

Or
@5;‘3.:"‘&3&" wa:Gugy pad= d@s
wSnS@s.

Assess the Maternity Benefits Act of Indis.
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